Multiply and Divide by 102 (A)

Find each product or quotient.

59 x 10% = 19 x 10% =
27 +10% = 57 X 10% =
28 ~10% = 89 - 10% =
8 x 10% = 7 x 10% =
98 x 10% = 95 + 10% =
30 X 10% = 42 +10% =
80 =~ 10% = 77 ~10% =
59 x 10% = 10 +10% =
15 +10% = 86 x 10% =
26 +10% = 20 +10% =
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Multiply and Divide by 10% (A) Answers

59 x 10 = 5,900

27 +10%=0.27

28 +10%=10.28

8 x 10%> =800

98 x 10* =9,800

30 x 10% = 3,000

80 +~10*=10.8

59 x 10 = 5,900

15+ 10%2=0.15

26 +~10°=0.26

Find each product or quotient.

19 x 10 = 1,900

57 X 10* = 5,700

89 + 10% = 0.89

7 x 10 =700

95 + 10%=0.95

42 +10%=0.42

77 +10*=0.77

10 + 10> =0.1

86 x 10% = 8,600

20 +10%=0.2
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